4.

<

hole at x = —2; large and negative to
left of asymptote, large and positive to
right of asymptote;

y=1

Domain: {xeR|x # =2, x # 3}

204
X
64 2 9 3 4 s\s8 10
—204

—404
_60.
-804
-100
-120
~140-
There are discontinuities at x = —3
andx = 3.
lim f(x) = o0
A x = —3is a vertical
Xlgg f(x) = —o0 Jasymptote.
lim f(x) = —o0
x—3- . .
] x = 3is a vertical
lllggf(x) =00 |asymptote.
X

The y-intercept is —19*0 and x-intercept
is —5.

(*9, *é) is a local minimum and
(=1, —1) is a local maximum.

y = 01s a horizontal asymptote.

Y

N R o

TO0 -8 6 -4

NEL

I
1
1
1
1
1
|
1
1
1
r4a 6 8 10
1
1
1
!
1
1
1
1
|

<

(0.2)

Chapter 5

Review of Prerequisite Skills,

pp. 224-225
1 1
1. — .=
) “9
9
b. 4 d. —
4
2. a. logs625 =4
1
b. logg— = -2
084 16
c. log,3=3
d. 10810 450 = w
e. log3z =38
f. log, T=10
3. a. y
34
24
;/—»X
EERY<E B
_‘I_
Y
3
x-intercept: (—1, 0)
b. y
8.
6.
44
24
N S A . R R
-24
no x-intercept
4. a. 2 b = c. X
r r X
37
5. a. 2 .
a. 27 e~
™ 21
b. — f.—
4 3
o T Rl
2 &
T 117
d. — h. —
6 6
6. a. b coa e. b
b
b. — d. a f. —b
a
12
7 0=—,
a. cos 13
tan 6 = EE
12

10.

. sin 0 = —ﬁ,
3
tan0=§
2
. sin0:fi
V5
(:os(9=L
V5
T
.cosz=0,

T .
tan > is undefined

. period: 7,

amplitude: 1

. period: 41,

amplitude: 2

. period: 2,

amplitude: 3

inde T
. period: 6

amplitude: %

. period: 27,

amplitude: 5

. period: 277,

amplitude: %

Y

o ™ 3T 2w
2 2
y

3

: /\ /\

1

O\ = 37 2% Sg jr 7o X

-1\ 2 2 2 2

. tan x + cot x = sec x ¢sc x

LS = tan x + cot x
_sinx | cosx
cosx  sinx

- sin?x + cos®x

cos x + sin x
1

cos x + sin x
RS = Sec x €sc X
1 1
= X
Cos X
1
Cos x sin x
Therefore, tan x + cot x =

sin x

S€C X CSC X.

Answers




11.

sin x
b. ——— =tanx + secx
1 — sin“x
sin x
LS = sintx
1 — sin“x
_ sinx
cos?x
RS = tan x sec x
sin x 1
= X
COS X  COS X
sin x
cos®x
sin x
Therefore, 5= tan x sec x.
1 — sin“x
T S
a x=—,—
6’ 6
m S
b.x=——
3’3

Section 5.1, pp. 232-234

1.

You can only use the power rule when
the term containing variables is in the
base of the exponential expression. In

the case of y = ¢, the exponent

contains a variable.
2. a. 3¢
3e3t -5
20e !
. =3¢

o ooy

1 e\/;‘
2Vx
. 6%
b. e*(3x + 1)
—3x287"3(x) —e®

™

-4

. (=6 + 2)()65 -6t

n=0
4=.49989985R33EH+1

654 Answers

10.

1.

12.

C.

The answers agree very well; the
calculator does not show a slope of
exactly 0.5, due to internal rounding.

ex+y=0

(=]

=

o+

=

o
/N

»
NN“P
~——

5( 1, 1 ,l)
= —| —¢5 —e 5
2\ 25 25
1|5/ « x
= g E e +e s
_ L
25”7
? —3e 73,
X
dZ
Tﬁ =9¢ ™,
x
d3
Ti’/ = *276‘_3)[
x
d"y
= e
x
% = -3¢,
d2
di}; = —3e"
x
d
Ey = e™(2x + 1),
d2
;)2) = 4xe®* + 4>
d
d7y = (3 — x),
x
d2
;ﬁ =2 —x)
31 000
100 _.
et

. —17 bacteria/h
. 31000 at time t = 0
. The number of bacteria is constantly

decreasing as time passes.

13.

14.

15.

16.

18.

a. 40(1 - e*f)
b 7@74()(1, —ﬁ>710—ﬁ
. A d[ 4 e e
From a, v = 40(1 - e*i), which
%

c. 40 m/s
d. about 12 s, about 327.3 m
a. i e

ii. e

. The limits have the same value

because as x — oo,i — 0.

.1
&2
=—-3o0orm=2
d d|1
. a(sinh x) = ; |:5(6X - eix)}
1
= E(ex +e )
= cosh x

d 1
b. a(cosh x) = E(e’ —e )

= sinh x
sinh
¢. Since tanh x = M,
cosh x
d .
J o sinh x |(cosh x)
x
——(tanhx) = —————————
dx (cosh x)
d
(sinh x) (* cosh x)
dx
(cosh x)?
Lers e*x)<1>(ex +e)
2 2
(cosh x)?
1 L1
Slet = eﬂ)(g)(@x —e)
(cosh x)?

1
Z[(el‘ +24e )

(cosh x)?

(¥ — 2+ ™)

(cosh x)?

74

(cosh x)?

_ 1

(cosh x)?

a. Four terms: 2.666 66§
Five terms: 2.708 333

Six terms: 2.716 666 B
Seven terms: 2.718 055

NEL



b. The expression for e in part ais a 9. V1) 4. a. 1001 items
special case of e* = 1 + %‘, + ’zﬁ. 1201 b. 500 items
+ 3+ 5+ ... inthatitis the 1001 5. 500 units
case whenx = 1. Thene® = ¢! = ¢ 801 g 47.2%: 0.462h
e 1 — 1 1 4 . a. c(t)
isinfacte’ = e =1+ 1 + 5 60 ]
+ 4+ 4 + 2 + ....The value of 401 % iy
xis 1. 201 N
t 5 510
Section 5.2, p. 240 TTPTeP o figopide ;é N
1. a. 32%)n2 From the graph, the values of v(r) % :
b. In3.1(3.1)" + 3x2 quickly rise in the range of about & 4 ¢
c. 3(10%5)In 10 0 lS t = 15.The sloge for the}sle 0 A0 e 1
_ > values is positive and steep. Then as b. The growth rate of capital
d. (-6 ;'_ 2n )(105 o )n 10 the graph nears r = 20, the steepness investment grew from 468 million
e. 2x(3* *2)In3 of the slope decreases and seems to dollars per year in 1947 to 2.112
f. 400(2)*"3In2 get very close to 0. One can reason billion dollars per year in 1967.
2. a. 5(x° X In5) + 5x*] that the car quickly accelerates for the c. 7.5%
b. (3 )x2[(2x2 n3) + 1] first 29 units of time. Then, it seems d. C = 59537 x 10° dollars,
2 2 n2 to maintain a c9nstant acce.lerat%on for dac — 44849 X 10° dollars /year
e —5+ the rest of the time. To verify this, one dt ) y
Xl ! could differentiate and look at values e. Statistics Canada data shows the
F[xIn3 — 4] where v'(7) is increasing. actual amount of U.S. investment in
x 1977 was 62.5 X 10° dollars. The
3 ~3In10 Section 5.3, Pp. 245-247 error in the model is 3.5%.
' 4 . ool bout 03849 f. C = 570.490 X 10 dollars,
4, —16.64x +y + 2592 =0 - 4. absolute max: about . > dac _ 9
5. —23.03x+y + 13.03 =10 absolute min: 0 8 o a8 ;2..2;52510 af:k’ltl;rsgyear
6. a. about 3.80 years b. absolute max: about 10.043, - a . > J -~ min atter the drug was
b. about —9.12%/year absolute min: about —5961.916 b antr;)z uce fter the d
7. a. In 1978, the rate of increase of debt 2. af (?c):(r)nax: 0.3849, ’ int.ro dlrlr;::ia er the drug was
ayments was $904 670 000/annum min: U; .
Soi]npared o $31;22 250 OOO/a num m(x): max: about 10, 9. 10 h of study should be assigned to the
in 1968. The rate of increase for min: about —5961 first exam and 20'h of study for the
1978 is 7.4 times larger than that b. The graphing approach seems to be second cram. -
for 1968. easier to use for the functions. It is 10. Usethe a.lgonthm for ﬁm.hng e)ftreme
b. The rate of increase for 1998 is quicker and it gives the graphs of values. First, ﬁm.l Fhe der‘lvatef (x)..
7.4 times larger than that for 1988. the functions in a good viewing Tyh o fim(i) a.n}(; cnlt 1c.al pfomts ;31 sett_nr;g
¢. Answers may vary. For example, rectangle. The only problem may f'(x) = Oandso Vmg_ or ),C .so mn
data from the past are not necessarily come in the second function, m(x), the values of x for which f'(x) is
good indicators of what will happen because for x < 1.5, the function un.d.eﬁned. Together these are the
in the future. Interest rates change, quickly approaches values in the crmcgl.values. Now evaluatef(x.) for
borrowing may decrease, principal negative thousands. the critical vall}es and the en(ilpomts 2
be paid off earl i 3. a. 500 squirrels and —2. The .hlghest value.wﬂl be the
_may © paid oft early. b. 2000 squirrels absolute maximum on the interval, and
8 y=1 c. (54.9 ;10) the lowest value will be the absolute
! d. - minimum on the interval.
4 ’ 5 1 11. a. f(x) is increasing on the intervals
(=00, —2) and (0, c0).
> 201 Also, f(x) is decreasing on the
1 interval (=2, 0).
» x 10
D T S o B B SR ¢ N >0
t
- 9 50 100 150 200 250 300
e. P grows exponentially until the
2 point of inflection, then the growth

rate decreases and the curve
becomes concave down.

NEL Answers




656

12.

13.
14.

Yy

. no maximum or minimum value

b. increasing when 0 < ¢ < ﬁ and

; .
decreasing when 1 > -5

c. about 106.15°/s

Answers

b. min: —e ' +3 = 2.63, no max
Y
84
6
44
—
24
35S 39 155
_2.
¢. min: —e ! = —0.37, no max
y
8.
6.
44
2
X
T8 6 -4 2 2
-2
d. no max or min
y
8.
6.
44
2.
I
-2
about 0.61
a. d(t)
1201
100
801
601
40
20
<5
2 4 6 8 10

d.t>10s

15. The solution starts in a similar way to
that of question 9. The effectiveness
function is

E(t) = 0.5(10 + ze‘ﬁ)

+ 0.6(9 + (25 — t)e‘%)
The derivative simplifies to
E'() = 0.05¢ (10 — 1)
+0.03¢7 (5 — 1)

This expression is very difficult to
solve analytically. By calculation on a
graphing calculator, we can determine
that the maximum effectiveness occurs
when 7 = 8.16 h.

16. a. r

s

Number of cells (thousands)
[

o

2 4 6 8 1012
Days

b. after 4.6 days, 5012

c. The rate of growth is slowing down
as the colony is getting closer to its
limiting value.

Mid-Chapter Review,
pp. 248-249

1. —15¢

&~
e (—2x + 3x?)
(e -1)
2x + xe T — e ¥ — ™)
4

(e + e™)?
. —500e

—25
+y—2=0

y' = =3¢,

y' = —3e"
b. y' = 2xe™ + %,
V" = 4xe® + 4>

y' = 3e* — xe,

"= 2e" — xe*
2(In8)(8%3)

0.64(In 10)((10)%)
2((In2)(x?) + 2x)
900(In5)(5)% !
(In1.9)(1.9)* + 1.9x%9
4((Ind)(x — 2)% + 2x — 4)
5500

750([%)
. decreasing by about 15 rabbits/month
. 5500

pPHEFp ™ opaLFTS

9

ee g smean TP

10.

11.
12.

13.

14.

6000
4000

2000

0 10 20 30 40
The graph is constantly decreasing.
The y-intercept is (0, 5500). Rabbit
populations normally grow
exponentially, but this population is
shrinking exponentially. Perhaps a
large number of rabbit predators,
such as snakes, recently began to
appear in the forest. A large number
of predators would quickly shrink
the rabbit population.

at about 0.41 h

The original function represents

growth when ck > 0, meaning that

¢ and k must have the same sign. The

original function represents decay

when ¢ and k have opposite signs.

a. 5000

b. 5751

c. 9111

a

b

. 406.80 mm Hg
. 316.82 mm Hg
c. 246.74 mm Hg
15% per year
f(x) = xe*
f(x) = xe* + (1)e*
=e'(x+1)
So,e* >0
x+1>0
x> -1
This means that the function is
increasing when x > —1.
Y
4

v

—24

—44

a. A(t)
A'(t)

A'(2) = $65.47,
A'(5) = $77.98,
A'(10) = $104.35

= 1000(1.06)"
= 1000(1.06)'In1.06

'

d. No

NEL



AQ) In1.06.
e a0) n1.06,

A'(5

L = In1.06,

A(5)

A'(10)

=Inl.
4(10) n1.06

f. All the ratios are equivalent (they
equal In 1.06, which is about
0.058 27), which means that
A'(1)
Ar)

is constant.

15. y = ce*
Y = cle?) + (0)(e")
— cex
y=y =ce'

Section 5.4, pp. 256-257

1. 2 cos 2x

—6sin 3x

(3x% — 2)(cos (x® — 2x + 4))
8 sin (—4x)

3 cos (3x) + 4 sin (4x)
2X(In2) + 2cosx + 2sinx
e*cos(e")

. 9cos(3x + 2m)

2x — sinx

) 1 1
j- —; cos (;)
2. a. 2cos (2x)
2sin2x  cos 2x

mrmrean g

b.
X x2
c. —sin (sin 2x) X 2 cos 2x
1
d ——
1 + cosx

e. ¢*(2cosx)
f. 2x3cosx + 6xZsin x
+ 3xsinx — 3 cos x

3. a —x+2y+<§—\/§>=0
b. 2x+y=0
c.y=-1

f..2x+y—m=0

4. a. One could easily find f'(x) and
g'(x) to see that they both equal
2 (sin x)(cos x). However, it is
easier to notice a fundamental
trigonometric identity. It is known
that sin®x + cos2x = 1. So,
sinx = 1 — cos?x.

Therefore, f(x) is in fact equal to

g(x). So, because f(x) = g(x),

fx) =¢'(x).

NEL

10.
1.

12.

13.
14.

b. f'(x) and g'(x) are each others’
negative. That is,
f'(x) = (sin x)(cos x), while
g'(x) = —2(sin x)(cos x).
sin (V1) cos (V)
aV(it)=——""-——"
—sin ¢ + 2t(sin t)(cos 1)
2V1 + cos t + sin®t
c. h'(x) = 3 sin xsin 2x cos 3x
+ 2 sin x sin 3x cos 2x
+ sin 2x sin 3x cos x
d. m'(x) = 3(x* + cos?x)?
X (2x — 2 sin x cos x)
a. absolute max: \/i
absolute min: — V2
b. absolute max: 2.26,
absolute min: —5.14
c. absolute max: \/i,
absolute min: — V2

d. absolute max: 5,
absolute min: —5

b. Vv'(t) =

a. r= % + 7k, %Tﬂ + ark for positive

integers k

(csc x)' = —csc x cot x,
(sec x)" = sec x tan x
-V3
a. t = % + wk, %T + ark for positive
integers k
b. 4
¢. minimum: 0 maximum: 4
_T
=3
g="T
First find y”.
y = Acos kt + B sin kt
y' = —kA sin kt + kB cos kt
y" = —k?A cos kt — k*B sin kr
So,y" + kZy
= —k?A cos kt — k*B sin kt
+ k(A cos kt + B sin kr)
= —k?A cos kt — k*B sin kt
+ k%A cos kr + kB sin kt
=0
Therefore, y" + kzy =0.

Section 5.5, p. 260

1.

10.
11.

a. 3sec?3x
b. 2sec’x — 2sec2x
¢. 6x7tan (x%)sec?(x?)
X(2 tan mx — arx sec? x)

tan? 7rx
e. 2xsec? (x?) — 2 tan x sec’ x
. 15(tan 5x cos 5x + sin 5x sec? 5x)

)

y=—2x

. cos x sec” (sin x)

. —dx[tan(x® — 1)] 3sec? (x> — 1)
—2tan (cos x)sec? (cos x)sin x

. 2(tan x + cos x)(sec” x — sin x)

. sin? x(3tan x cos x + sin x sec’ x)

1 tan'Vx 2
e sec?2Vx
2Vx

Yy

I~

e e Ty

™

2sin® x
cos’ x

b. 2sec? x(1 + 3tan® x)

a. cosx + secx +

1 sin x
+
cosx  cosx
1 +sinx
cos x
cos? x — (1 + sin x)(—sin x)

0082 X
2

cos’x — (—sinx — sin’x)

COS2 X

cos?x + sinx + sinx

COS2 X

1 + sinx

COSZ.)C

The denominator is never negative.
1 + sinx > 0 for —% <zx< %, since

sinx reaches its minimum of —1 at

5&

x = % Since the derivative of the

original function is always positive in
the specified interval, the function is
always increasing in that interval.
—4dx+y—(2-m)=0

sSin x
Cos x
quotient rule to derive the derivative of
the tangent function.

—csc?x

f"(x) = 8 cesc?x cot x

Write tan x = and use the

Answers




Review Exercise, pp. 263-265

1.

10.

—e*
2 + 3e*
22 +3
. (—6x + S)e_3xz+5x
ef(x+ 1)

2¢!
(e + 1)?
. 10°In10
. 6x(4%)In 4
.5 X5 (xIn5+ 1)
L3 X 2(xIn2 + 4)
4 —4xIn4

4)(

¢ v;( 1, In5 >

: x? i 2xVx
a. 6cos (2x) + 8sin (2x)

. 3 sec? (3x)
sin x

- e Fs

&0 T e

®

=3

€. ———
(2 — cosx)

. 2xsec? (2x) + tan 2x

€3%(3 sin 2x + 2 cos 2x)

—4 cos (2x)sin (2x)

x=1

. The function has a horizontal
tangent at (1, e). So this point could
be possible local max or min.

0

b. The slope of the tangent to f(x) at

e e o

L

the point with x-coordinate % is 0.

a, ef(x + 1)
b. 20e'%(5x + 1)
_ X —1
Y e+ 1
dy Zez'v(ezx +1)— (sz - 1)(2e2x)
dx (e +1)?
2% + 2% — 2% + 2%
(e +1)?
_ 4¢%
(e +1)?

5 e — 2% + 1
Now,1 —y*=1—- —F———"7—

(e +1)2
7e4x+2e2”+1—e4"+262"—1
(ezx+ 1)2

4e dy
(3% +1)2  dx
3x—y+2In2—-2=0
—x+y=0

about 0.3928 m per unit of time

658 Answers

1.

12.

13.

14.

15.

16.

18.

19.
20.
21.
22.
23.

t=20

b. After 10 days, about 0.1156 mice
are infected per day. Essentially,
almost 0 mice are infected per day
when ¢ = 10.

(%]

o

€1

—9¢ (2 + 3¢ )2
exe—l

ex+e*’

—25¢%(1 — &™)*
5°In5

. (0.47)*In(0.47)

. 2(52)*1n 52

. 5(2)*In2

4e*

—6(10)*1n 10

. 2*In2cos 2*

. x2cos x + 2x sin x

_ m_
- meos| -

. cos’x — sin®x

. —2cosxsinx
2 sin x cos®

TE meR D TR AT T

o

[N =T

x — sindx
ty-T=0
YT
= ds.
V= ar
Thus, v = 8(cos (107r1))(107)
= 807 cos (1077)
The acceleration at any time 7 is
_dv _ s
C=a T ar
Hence, a = 807 (—sin(1071))(107)
= —800msin (10771). Now,

@5+ 100m%s = ~8007 sin (10m1)

+ 10078 sin (10771)) = 0.

displacement: 5,

velocity: 10,

acceleration: 20

each angle % rad, or 45°

45m

25m

5.19 ft

a. f"(x) = —8sin® (x — 2)
+ 8 cos? (x — 2)

b. f"(x) = (4 cos x)(sec® x tan x)
— 2 sin x(sec x)?

=

Chapter 5 Test, p. 266

1.

a. —4xe’2"2
2
b. 3¢* ¥ In3 - (2x + 3)
3. 4. _
c. 5[(33“ — 673’\}

d. 2cos x + 15sin 5x

e. 6xsin®(x?)cos (x?)
_se02 V1 —x
2V1 —x

—6x +y=2,
The tangent line is the given line.
—2x+y=1
a. a(t) =v'(1) = —10ke™ ™
= —k(10e )
= —kv(r)
Thus, the acceleration is a constant
multiple of the velocity. As the
velocity of the particle decreases,
the acceleration increases by a
factor of k.
b. 10 cm/s
In2
P Sk
a. f"(
b. f"(

f.

C.

) = 2(sin’x — cos®x)
) = cscx cot’ x

+ escdx + sinx
absolute max: 1,
absolute min: 0
40.24

.. 1 .
minimum: (*4, f;), no maximum

X
X

a x— T T T
T T 62

b. increasing: —5?77 <x<-Z

6°
P - S5m
decreasing: —7 = x < —7~and

_m
6<x<71'

. o
¢. local maximum at x = —6 local

.. _ 5w
minimum atx = —_—

6
d. I

Cumulative Review of Calculus,

pp. 267-270
1. a. 16 c. 1
6

b. -2 d. 160In2
2. a. 13m/s

b. 15m/s
3. flx) =3
4. a. 196m/s

b. 19.6 m/s

c. 53.655m/s

NEL



10.

1.
12.
13.

14.

15.

NEL

a. 19 000 fish/year
b. 23 000 fish/year
a. i.3
ii. 1
iii. 3
iv. 2
b. No, limf(x) does not exist. In order
x—4
for the limit to exist, lim f(x)
x—4"
and lim f(x) must exist and they
x—4"F
must be the same. In this case,
lim f(x) = oo, but
x—4"
lim f(x) = —o0, so limf(x)
x4t x4
does not exist.

f(x) is discontinuous at x = 2.
lim f(x) = 5, but lim f(x) = 3.
x—>27 x—2"

1 d4
a. —— o
5 3
1
. 6 . —
b e 2
1 1
_— f.f
“ 7 2
a. 6x + 1
b L
-5
a. 3x2—8x+5
3x2
2x3 + 1
€ 0%
T (x+3)?

d. 4x(x® + 3)(4x> + 5x + 1)

+ (¥ + 3)%(20x* + 5)

(4x2 + 1)%84x> — 80x — 9)

(3x — 2)*

5[ + (2x + 1)3]*

X [2x + 6(2x + 1)?]

4x + 3y —10=0

3

a. p'(t)=4+6

b. 46 people per year

c. 2006

a. f'(x) = 5x* — 15x2 + 1;
F(x) = 20x3 = 30x

b

4 12
b f'(x) = Z:f"(e) = =3
’ P 2 . on — 3
e flx) = ik () Vo
d. f/(x) = 4x° + is;
X
fr(x) = 12x¢% — 2—2
X

a. maximum: 82, minimum: 6
. 1 ..
. maximum: 95, minimum: 2

=

P 1
minimum: 5

e4
1+ e 2

. maximum: 5, minimum: 1

. maximum:

a0

16.

17.
18.
19.
20.

21.
22,
23.

24,

25.

26.

a. v(r) = 9> — 811 + 162,
a(r) = 18t — 81

b. stationary whent = 6ort = 3,
advancing when v(r) > 0, and
retreating when v(r) < 0

c. t=45

d. 0=r<45

e. 45<r=38

14 062.5 m?

r=43cm,h = 86cm

r=68cm, h=27.5cm

a. 140 — 2x

b. 101 629.5 cm?; 46.7 cm by 46.7 cm
by 46.6 cm

x=4

$70 or $80

$1140
dy

a. = —10x + 20,

x = 2 is critical number,
Increase: x < 2,
Decrease: x > 2

dy
b. — = 12x + 16,
dx
x = —% is critical number,

Increase: x > —%,

Decrease: x < —%
dy

¢ - =6x - 24,
dx *

x = =2 are critical numbers,
Increase: x < —2,x > 2,

Decrease: —2 < x < 2

da
d. dfvc = —ﬁ. The function has

no critical numbers. The function is
decreasing everywhere it is defined,
that is, x # 2.

a. y = 0is a horizontal asymptote.
x = £3 are the vertical asymptotes.
There is no oblique asymptote.

(O, —g) is a local maximum.

b. There are no horizontal asymptotes.
x = =1 are the vertical asymptotes.
y = 4x is an oblique asymptote.
(=V/3,=6V3)isalocal
maximum, (\/i 6\/5) is a local
minimum.

a. y

T T T T T
==\ —f>
_10_

y=4x+6x2 - 24x -2

o
1

28.
29.

=2(x—1)+e
5 days
27
. 2cos x + 15sin 5x
. 8 cos 2x(sin 2x + 1)3
2x + 3 cos 3x
2Vx2 + sin 3x
1+ 2cosx
(cos x + 2)?
e. 2xsec’ x2 — 2 tan x sec’ x
£. —2x sin x? cos (cos x2)
31. about4.8 m
32. about 8.5m

30.

sEEs-angp

C.

d.

Chapter 6

Review of Prerequisite Skills,
p. 273

V3 V3
a. —— d. —
2 2
\/E
b. 3 e. 2
1
[¢ 2 f. 1
2. 4
3
3. a. AB=29.7, /B = 36.5°,
/C = 535°
b. LA =979° /B =29.7°,
/C =524°
4., 17 =50°XZ =17.36,YZ =6.78
5. ZR=44° 1,8 =102° AT = 34°
6. 5.82km
7. 8.66 km
8. 21.1km
9. 59.4cm?

Answers




